
Fe
br
ua
ry



February 2025

RODRUNNER REF NO: TC-AC-118 ADAPTABLE ACURA

Lateral Arm

Weight: 1,254

RDX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TC1/2 2019- Rear 52340TJBA00

Length: 439

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-AC-BS006
Lateral Arm

Bushing
Rear 52340TJBA00*

BC-AC-BS007
Lateral Arm

Bushing
Rear 52340TJBA00*

RODRUNNER REF NO: BC-AC-BS006 ADAPTABLE ACURA

Lateral Arm Bushing

Weight: 0,21

RDX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TC1/2 2019- Rear 52340TJBA00*

Length: 43

TC-AC-118 Lateral Arm Rear 52340TJBA00

www.rodrunnerparts.com 1



February 2025

RODRUNNER REF NO: BC-AC-BS007 ADAPTABLE ACURA

Lateral Arm Bushing

Weight: 0,128

RDX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TC1/2 2019- Rear 52340TJBA00*

Length: 41,8

TC-AC-118 Lateral Arm Rear 52340TJBA00

RODRUNNER REF NO: LS-B-146 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,53

2-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G42 2021- Front Right 31308091446

Length: 350 Bolt Metric: M10X1,5

M3/M4/XDrive

www.rodrunnerparts.com 2



February 2025

RODRUNNER REF NO: LS-B-146 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,53

3-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G20/G21/G28 2018- Front Right 31308091446

Length: 350 Bolt Metric: M10X1,5

M3/M4/XDrive

RODRUNNER REF NO: LS-B-146 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,53

4-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G22/G23/G26 2021- Front Right 31308091446

Length: 350 Bolt Metric: M10X1,5

M3/M4/XDrive

www.rodrunnerparts.com 3



February 2025

RODRUNNER REF NO: LS-B-147 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,53

2-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G42 2021- Front Left 31308091445

Length: 350 Bolt Metric: M10X1,5

M3/M4/XDrive

RODRUNNER REF NO: LS-B-147 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,53

3-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G20/G21/G28 2018- Front Left 31308091445

Length: 350 Bolt Metric: M10X1,5

M3/M4/XDrive

www.rodrunnerparts.com 4



February 2025

RODRUNNER REF NO: LS-B-147 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,53

4-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G22/G23/G26 2021- Front Left 31308091445

Length: 350 Bolt Metric: M10X1,5

M3/M4/XDrive

RODRUNNER REF NO: TC-BU-318 ADAPTABLE BUICK

Lateral Arm

Weight: 2,28

ENVISION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2014-2021 Rear Right
Upper

84557847

Length: 337,6

YEAR ONLY
2017-2021

www.rodrunnerparts.com 5



February 2025

RODRUNNER REF NO: TC-BU-319 ADAPTABLE BUICK

Lateral Arm

Weight: 2,28

ENVISION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2014-2021 Rear Left
Upper

84557849

Length: 337,6

YEAR ONLY
2017-2021

RODRUNNER REF NO: TC-CD-228 ADAPTABLE CADILLAC

Control Arm and Ball Joint

Weight: 5,29

XT5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017- Front Right
Lower

84722072

Length: 379 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CD-1004 Ball Joint Front Lower 84722072*, 84722073*

www.rodrunnerparts.com 6



February 2025

RODRUNNER REF NO: TC-CD-228 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 5,29

ACADIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2017- Front Right
Lower

84722072

Length: 379 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CD-1004 Ball Joint Front Lower 84722072*, 84722073*

RODRUNNER REF NO: TC-CD-229 ADAPTABLE CADILLAC

Control Arm and Ball Joint

Weight: 5,29

XT5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017- Front Left
Lower

84722073

Length: 379 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CD-1004 Ball Joint Front Lower 84722072*, 84722073*

www.rodrunnerparts.com 7



February 2025

RODRUNNER REF NO: TC-CD-229 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 5,29

ACADIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2017- Front Left
Lower

84722073

Length: 379 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CD-1004 Ball Joint Front Lower 84722072*, 84722073*

RODRUNNER REF NO: TC-CY-108 ADAPTABLE CHERY

Control Arm and Ball Joint

Weight: 4,088

TIGGO 7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Right
Lower

202000911AA

Length: 475 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CY-104K Ball Joint Kit Front Lower 202000911AA*, 202000910AA*

www.rodrunnerparts.com 8



February 2025

RODRUNNER REF NO: TC-CY-108 ADAPTABLE CHERY

Control Arm and Ball Joint

Weight: 4,088

TIGGO 8

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Right
Lower

202000911AA

Length: 475 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CY-104K Ball Joint Kit Front Lower 202000911AA*, 202000910AA*

RODRUNNER REF NO: TC-CY-108S ADAPTABLE CHERY

Control Arm

Weight: 3,22

TIGGO 7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Right
Lower

202000911AA

Length: 435

www.rodrunnerparts.com 9



February 2025

RODRUNNER REF NO: TC-CY-108S ADAPTABLE CHERY

Control Arm

Weight: 3,22

TIGGO 8

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Right
Lower

202000911AA

Length: 435

RODRUNNER REF NO: TC-CY-109 ADAPTABLE CHERY

Control Arm and Ball Joint

Weight: 4,088

TIGGO 7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Left
Lower

202000910AA

Length: 475 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CY-104K Ball Joint Kit Front Lower 202000911AA*, 202000910AA*

www.rodrunnerparts.com 10



February 2025

RODRUNNER REF NO: TC-CY-109 ADAPTABLE CHERY

Control Arm and Ball Joint

Weight: 4,088

TIGGO 8

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Left
Lower

202000910AA

Length: 475 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CY-104K Ball Joint Kit Front Lower 202000911AA*, 202000910AA*

RODRUNNER REF NO: TC-CY-109S ADAPTABLE CHERY

Control Arm

Weight: 3,22

TIGGO 7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Left
Lower

202000910AA

Length: 435

www.rodrunnerparts.com 11



February 2025

RODRUNNER REF NO: TC-CY-109S ADAPTABLE CHERY

Control Arm

Weight: 3,22

TIGGO 8

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Left
Lower

202000910AA

Length: 435

RODRUNNER REF NO: BJ-DO-654 ADAPTABLE DODGE

Ball Joint

Weight: 1,074

RAM 4500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2006-2010 Front 68456973AA

Length: 117,5 Bolt Metric: M24X1,5

www.rodrunnerparts.com 12



February 2025

RODRUNNER REF NO: BJ-DO-654 ADAPTABLE DODGE

Ball Joint

Weight: 1,074

RAM 5500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2006-2010 Front 68456973AA

Length: 117,5 Bolt Metric: M24X1,5

www.rodrunnerparts.com 13



February 2025

RODRUNNER REF NO: BJ-DS-104K ADAPTABLE DS

Ball Joint Kit

Weight: 0,912

7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J 2017- Front 9815396280

Length: 83,3 Bolt Metric: M14X1,5

TC-P-1088
Control Arm

and Ball Joint
Front Right 9815014380, 9815396280

TC-P-1089
Control Arm

and Ball Joint
Front Left 9815014680, 9815396280

TC-DS-108
Control Arm

and Ball Joint
Front Right 9800596580, 9815396280

TC-DS-109
Control Arm

and Ball Joint
Front Left 9800596680, 9815396280

www.rodrunnerparts.com 14



February 2025

RODRUNNER REF NO: TC-HY-128 ADAPTABLE HYUNDAI

Control Arm and Ball Joint

Weight: 4,928

IONIQ V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NE 2022- Front Right
Lower

54501CV000

Length: 399

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-HY-1024K Ball Joint Kit Front Lower
54501N9000*, 54500N9000*,

54530L1000

RODRUNNER REF NO: TC-HY-128 ADAPTABLE KIA

Control Arm and Ball Joint

Weight: 4,928

EV6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2023- Front Right
Lower

54501CV000

Length: 399

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-HY-1024K Ball Joint Kit Front Lower
54501N9000*, 54500N9000*,

54530L1000

www.rodrunnerparts.com 15



February 2025

RODRUNNER REF NO: TC-HY-128S ADAPTABLE HYUNDAI

Control Arm

Weight: 4,184

IONIQ V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NE 2022- Front Right
Lower

54501CV000*

Length: 332

RODRUNNER REF NO: TC-HY-128S ADAPTABLE KIA

Control Arm

Weight: 4,184

EV6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2023- Front Right
Lower

54501CV000*

Length: 332

www.rodrunnerparts.com 16



February 2025

RODRUNNER REF NO: TC-HY-129 ADAPTABLE HYUNDAI

Control Arm and Ball Joint

Weight: 4,928

IONIQ V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NE 2022- Front Left
Lower

54500CV000

Length: 399

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-HY-1024K Ball Joint Kit Front Lower
54501N9000*, 54500N9000*,

54530L1000

RODRUNNER REF NO: TC-HY-129 ADAPTABLE KIA

Control Arm and Ball Joint

Weight: 4,928

EV6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2023- Front Left
Lower

54500CV000

Length: 399

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-HY-1024K Ball Joint Kit Front Lower
54501N9000*, 54500N9000*,

54530L1000

www.rodrunnerparts.com 17



February 2025

RODRUNNER REF NO: TC-HY-129S ADAPTABLE HYUNDAI

Control Arm

Weight: 4,184

IONIQ V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NE 2022- Front Left
Lower

54500CV000*

Length: 332

RODRUNNER REF NO: TC-HY-129S ADAPTABLE KIA

Control Arm

Weight: 4,184

EV6

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2023- Front Left
Lower

54500CV000*

Length: 332

www.rodrunnerparts.com 18



February 2025

RODRUNNER REF NO: TC-HY-188 ADAPTABLE HYUNDAI

Lateral Arm

Weight: 1,932

IONIQ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

AE 2017-2022 Rear Right
Lower

55280G2000

Length: 396,6

RODRUNNER REF NO: TC-HY-188 ADAPTABLE KIA

Lateral Arm

Weight: 1,932

NIRO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DE 2017-2022 Rear Right
Lower

55280G2000

Length: 396,6

www.rodrunnerparts.com 19



February 2025

RODRUNNER REF NO: TC-HY-189 ADAPTABLE HYUNDAI

Lateral Arm

Weight: 1,932

IONIQ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

AE 2017-2022 Rear Left
Lower

55270G2000

Length: 396,6

RODRUNNER REF NO: TC-HY-189 ADAPTABLE KIA

Lateral Arm

Weight: 1,932

NIRO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DE 2017-2022 Rear Left
Lower

55270G2000

Length: 396,6

www.rodrunnerparts.com 20



February 2025

RODRUNNER REF NO: LS-HY-216 ADAPTABLE HYUNDAI

Stabilizer Bar Link

Weight: 0,512

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

SX2 2023- Front 54830BE000

Length: 315 Bolt Metric: M12X1,25

RODRUNNER REF NO: TR-JE-401 ADAPTABLE JEEP

Tie Rod End

Weight: 0,614

CHEROKEE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KL 2014- Front Right 68319183AB

Length: 110,4 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

4 Door

YEAR ONLY
2019-

www.rodrunnerparts.com 21



February 2025

RODRUNNER REF NO: TR-JE-402 ADAPTABLE JEEP

Tie Rod End

Weight: 0,614

CHEROKEE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KL 2014- Front Left 68319182AB

Length: 110,4 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

4 Door

YEAR ONLY
2019-

RODRUNNER REF NO: BJ-LA-284 ADAPTABLE LAND ROVER

Ball Joint

Weight: 0,596

DISCOVERY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L319 2004-2009 Rear Lower LR032644

Length: 65

www.rodrunnerparts.com 22



February 2025

RODRUNNER REF NO: BJ-LA-284 ADAPTABLE LAND ROVER

Ball Joint

Weight: 0,596

DISCOVERY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L319 2009-2016 Rear Lower LR032644

Length: 65

RODRUNNER REF NO: BJ-LA-284 ADAPTABLE LAND ROVER

Ball Joint

Weight: 0,596

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L322 2002-2012 Rear Lower LR032644

Length: 65

www.rodrunnerparts.com 23



February 2025

RODRUNNER REF NO: BJ-LA-284 ADAPTABLE LAND ROVER

Ball Joint

Weight: 0,596

RANGE ROVER SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L320 2006-2013 Rear Lower LR032644

Length: 65

RODRUNNER REF NO: BJ-LA-294 ADAPTABLE LAND ROVER

Ball Joint

Weight: 0,408

DISCOVERY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L319 2004-2009 Rear Upper RHF500100

Length: 62

www.rodrunnerparts.com 24



February 2025

RODRUNNER REF NO: BJ-LA-294 ADAPTABLE LAND ROVER

Ball Joint

Weight: 0,408

RANGE ROVER SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L320 2006-2013 Rear Upper RHF500100

Length: 62

RODRUNNER REF NO: TC-LA-458 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 5,106

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L460 2022- Front Right
Lower

LR152744

Length: 474,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS084
Control Arm

Bushing
Front Lower LR152744*, LR152745*

www.rodrunnerparts.com 25



February 2025

RODRUNNER REF NO: TC-LA-458 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 5,106

RANGE ROVER SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L461 2022- Front Right
Lower

LR152744

Length: 474,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS084
Control Arm

Bushing
Front Lower LR152744*, LR152745*

RODRUNNER REF NO: TC-LA-459 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 5,106

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L460 2022- Front Left
Lower

LR152745

Length: 474,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS084
Control Arm

Bushing
Front Lower LR152744*, LR152745*

www.rodrunnerparts.com 26



February 2025

RODRUNNER REF NO: TC-LA-459 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 5,106

RANGE ROVER SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L461 2022- Front Left
Lower

LR152745

Length: 474,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS084
Control Arm

Bushing
Front Lower LR152744*, LR152745*

RODRUNNER REF NO: TC-LA-498 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 3,322

DISCOVERY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L462 2016- Front Right
Lower

LR175797

Length: 364,7 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS056
Control Arm

Bushing
Front Lower
Rearward

LR175797*, LR175796*

BC-LR-BS060
Control Arm

Bushing
Front Lower

Rearward Inner
LR113282*, LR113305*,
LR148055*, LR148057*

www.rodrunnerparts.com 27



February 2025

RODRUNNER REF NO: TC-LA-498 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 3,322

DEFENDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L663 2019- Front Right
Lower

LR175797

Length: 364,7 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS056
Control Arm

Bushing
Front Lower
Rearward

LR175797*, LR175796*

BC-LR-BS060
Control Arm

Bushing
Front Lower

Rearward Inner
LR113282*, LR113305*,
LR148055*, LR148057*

RODRUNNER REF NO: TC-LA-499 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 3,322

DISCOVERY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L462 2016- Front Left
Lower

LR175796

Length: 364,7 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS056
Control Arm

Bushing
Front Lower
Rearward

LR175797*, LR175796*

BC-LR-BS060
Control Arm

Bushing
Front Lower

Rearward Inner
LR113282*, LR113305*,
LR148055*, LR148057*

www.rodrunnerparts.com 28



February 2025

RODRUNNER REF NO: TC-LA-499 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 3,322

DEFENDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L663 2019- Front Left
Lower

LR175796

Length: 364,7 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS056
Control Arm

Bushing
Front Lower
Rearward

LR175797*, LR175796*

BC-LR-BS060
Control Arm

Bushing
Front Lower

Rearward Inner
LR113282*, LR113305*,
LR148055*, LR148057*

RODRUNNER REF NO: BC-LR-BS056 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 0,266

DISCOVERY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L462 2016- Front Lower
Rearward

LR175797*, LR175796*

Length: 74

TC-LA-498
Control Arm

and Ball Joint

Front Right
Lower

Rearward

LR175797

TC-LA-499
Control Arm

and Ball Joint

Front Left
Lower

Rearward

LR175796

www.rodrunnerparts.com 29



February 2025

RODRUNNER REF NO: BC-LR-BS056 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 0,266

DEFENDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L663 2019- Front Lower
Rearward

LR175797*, LR175796*

Length: 74

TC-LA-498
Control Arm

and Ball Joint

Front Right
Lower

Rearward

LR175797

TC-LA-499
Control Arm

and Ball Joint

Front Left
Lower

Rearward

LR175796

RODRUNNER REF NO: BC-LR-BS082 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 0,34

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L460 2022- Front Lower
Rearward

LR152741*, LR152742*

Length: 75

TC-LA-478
Control Arm

and Ball Joint

Front Right
Lower

Rearward

LR152741

TC-LA-479
Control Arm

and Ball Joint

Front Left
Lower

Rearward

LR152742

www.rodrunnerparts.com 30



February 2025

RODRUNNER REF NO: BC-LR-BS083 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 0,744

RANGE ROVER SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L461 2022- Front Lower
Rearward

LR152741*, LR152742*

Length: 81,5

TC-LA-458
Control Arm

and Ball Joint
Front Right

Lower
LR152744

TC-LA-459
Control Arm

and Ball Joint
Front Left

Lower
LR152745

RODRUNNER REF NO: BC-LR-BS084 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 1,266

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L460 2022- Front Lower LR152744*, LR152745*

Length: 91

TC-LA-458
Control Arm

and Ball Joint
Front Right

Lower
LR152744

TC-LA-459
Control Arm

and Ball Joint
Front Left

Lower
LR152745

www.rodrunnerparts.com 31



February 2025

RODRUNNER REF NO: BC-LR-BS084 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 1,266

RANGE ROVER SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L461 2022- Front Lower LR152744*, LR152745*

Length: 91

TC-LA-458
Control Arm

and Ball Joint
Front Right

Lower
LR152744

TC-LA-459
Control Arm

and Ball Joint
Front Left

Lower
LR152745

RODRUNNER REF NO: LS-M-146 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,456

EQA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2021- Rear Right 2433208400, A2433208400

Length: 238 Bolt Metric: M10X1,5

www.rodrunnerparts.com 32



February 2025

RODRUNNER REF NO: LS-M-146 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,456

EQB

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X243 2021- Rear Right 2433208400, A2433208400

Length: 238 Bolt Metric: M10X1,5

RODRUNNER REF NO: LS-M-147 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,456

EQA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2021- Rear Left 2433208300, A2433208300

Length: 238 Bolt Metric: M10X1,5

www.rodrunnerparts.com 33



February 2025

RODRUNNER REF NO: LS-M-147 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,456

EQB

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X243 2021- Rear Left 2433208300, A2433208300

Length: 238 Bolt Metric: M10X1,5

RODRUNNER REF NO: TC-MG-108 ADAPTABLE MG

Control Arm and Ball Joint

Weight: 4,384

ZS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front Right
Lower

10803555

Length: 400

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MG-114K Ball Joint Kit Front Right 10803555*

www.rodrunnerparts.com 34



February 2025

RODRUNNER REF NO: TC-MG-108S ADAPTABLE MG

Control Arm

Weight: 3,326

ZS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front Right
Lower

10803555

Length: 3.354

RODRUNNER REF NO: TC-MG-109 ADAPTABLE MG

Control Arm and Ball Joint

Weight: 4,384

ZS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front Left
Lower

10803554

Length: 400

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MG-114K Ball Joint Kit Front Right 10803555*

www.rodrunnerparts.com 35



February 2025

RODRUNNER REF NO: TC-MG-109S ADAPTABLE MG

Control Arm

Weight: 3,326

ZS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front Left
Lower

10803554

Length: 3.354

RODRUNNER REF NO: TC-N-128 ADAPTABLE NISSAN

Lateral Arm

Weight: 1,024

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Rear Right
Lower

551A06UA0B

Length: 312

www.rodrunnerparts.com 36



February 2025

RODRUNNER REF NO: TC-N-128 ADAPTABLE NISSAN

Lateral Arm

Weight: 1,024

ROGUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T33 2021- Rear Right
Lower

551A06UA0B

Length: 312

RODRUNNER REF NO: TC-N-129 ADAPTABLE NISSAN

Lateral Arm

Weight: 1,024

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Rear Left
Lower

551A16UA0B

Length: 312

www.rodrunnerparts.com 37



February 2025

RODRUNNER REF NO: TC-N-129 ADAPTABLE NISSAN

Lateral Arm

Weight: 1,024

ROGUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T33 2021- Rear Left
Lower

551A16UA0B

Length: 312

RODRUNNER REF NO: AJ-N-143 ADAPTABLE NISSAN

Tie Rod

Weight: 0,486

SENTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

B18 2020- Front 485214AF1A

Length: 216 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

1.6L Turbo Eng

www.rodrunnerparts.com 38



February 2025

RODRUNNER REF NO: TC-T-1468 ADAPTABLE TOYOTA

Lateral Arm

Weight: 1,154

RAV4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XA50 2019- Rear Right
Upper

487700R020

Length: 293

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1059
Control Arm

Bushing
Rear 48790F4010

RODRUNNER REF NO: TC-T-1468 ADAPTABLE TOYOTA

Lateral Arm

Weight: 1,154

VENZA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XU80 2020- Rear Right
Upper

487700R020

Length: 293

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1059
Control Arm

Bushing
Rear 48790F4010

www.rodrunnerparts.com 39



February 2025

RODRUNNER REF NO: TC-T-1468 ADAPTABLE LEXUS

Lateral Arm

Weight: 1,154

NX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

AAZH26 2021- Rear Right
Upper

487700R020

Length: 293

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1059
Control Arm

Bushing
Rear 48790F4010

RODRUNNER REF NO: TC-T-1469 ADAPTABLE TOYOTA

Lateral Arm

Weight: 1,154

RAV4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XA50 2019- Rear Left
Upper

487900R020

Length: 293

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1059
Control Arm

Bushing
Rear 48790F4010

www.rodrunnerparts.com 40



February 2025

RODRUNNER REF NO: TC-T-1469 ADAPTABLE TOYOTA

Lateral Arm

Weight: 1,154

VENZA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XU80 2020- Rear Left
Upper

487900R020

Length: 293

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1059
Control Arm

Bushing
Rear 48790F4010

RODRUNNER REF NO: TC-T-1469 ADAPTABLE LEXUS

Lateral Arm

Weight: 1,154

NX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

AAZH26 2021- Rear Left
Upper

487900R020

Length: 293

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1059
Control Arm

Bushing
Rear 48790F4010

www.rodrunnerparts.com 41




